## **HUNTER'S CONCERTS**

HUNTER'S CONCERTS										
	Date	Age	Opener	Venue	Set List 1-1 0	Imp act 1-1 0	Ove r All Exp erie nce 1-10	Seat s 1-10 Ope ner 1-5	Total Ratin g	Friend or Enemy
Miley Cyrus	Oct 21st 2007 (?)	4 (?)	Main	Target Center	5	2	2	3	30%	Mom
Big Time Rush	Aug 27 2011	8	Main	MN State Fairground	10	10	10	7	92%	Mom
Big Time Rush	July 28 2012	9	Main	Target Center	9	8	8	6	78%	Mom
Panic! @ The Disco	March 12th 2017	14	Main	XCel Energy Center	10	10	10	9	98%	Mom
Mister Wives	March 12th 2017	14	Opener	XCel Energy Center	7	5	8	4	69%	Mom
Saint Motel	March 12th 2017	14	Opener	XCel Energy Center	10	8	8	4	85%	Mom
Fall Out Boy	October 22 2017	16	Main	XCel Energy Center	10	10	10	10	100%	Nate
Jaden Smith	October 22 2017	16	Opener	XCel Energy Center	0	2	2	5	26%	Nate
Blackbear	October 22 2017	16	Opener	XCel Energy Center	2	0	1	5	23%	Nate
Twenty One Pilots	October 21 2018	17	Main	XCel Energy Center	10	10	9	7	90%	Blank :\
Max Frost	October 21st 2018	17	Opener	XCel Energy Center	5	7	8	3	66%	Blank :\
AWOL Nation	October 21 2018	17	Opener	XCel Energy Center	6	3	6	3	51%	Blank :\

Silver Warehouse	August 2021	18	Main	Miltown Days	7	8	9	10	85%	Jordan, Devon, Colin
Mayday Parade	March 4th 2022	18	Main	Varsity Theater	10	10	10	10	100%	Lexi :\
Real Friends	March 4th 2022	18	Opener	Varsity Theater	8	7	7	5	77%	Lexi :\
Magnolia Park	March 4th 2022	18	Opener	Varsity Theater	4	3	5	5	49%	Lexi :\
Silver Warehouse	June 2023	20	Main	Luck Golf Course	10	10	10	10	100%	Kenzie :/
Fall Out Boy	July 13th 2023	20	Main	Sommerset Ampitheather	7	10	8	8	83%	Kenzie, Sidney
Bring Me The Horizon	July 13th 2023	20	Opener	Sommerset Ampitheater	6	5	5	4	57%	Kenzie, Sidney
Honey Creek	August 4th 2023	20	Co-Lining	Underground Music Cafe	10	10	10	10	100%	Sidney
Glitch Gum	August 4th 2023	20	Co-Lining	Underground Music Cafe	10	10	10	10	100%	Sidney
Silver Warehouse	~wash~ August 11th	20								
The Ataris	August 19th	20	Opening Reverb Festival	Eau Claire Event District	6	4	7	5	62%	Amie
Red Jumpsuit Aparatus	August 19th	20	Opening Reverb Festival	Eau Claire Event District	7	5	7	5	68%	Amie
Charlotte Sands	August 19th	20	Opening Reverb Festival	Eau Claire Event District	6	8	9	5	80%	Amie

Plain White T's	August 19th	20	Reverb Festival	Eau Claire Event District	8	8	6	10	80%	Amie
The Maine	August 19th	20	Reverb Festival	Eau Claire Event District	7	10	10	10	93%	Amie
Mayday Parade	August 19th	20	Reverb Festival	Eau Claire Event District	10	10	10	10	100%	Amie
All Time Low	August 19th	20	Reverb Festival	Eau Claire Event District	6	7	7	9	73%	Amie
James Bay	August 29th	20	Opening	Somerset Amp	8	8	9	3	80%	Adrienne, Amber, Nathan
The Lumineers	August 29th	20	Main	Somerset Amp	10	10	10	8	95%	Adrienne, Amber, Nathan
Silver Warehouse	Dec 10th?, 2023	20	Support	First Ave	10	10	10	10	100%	Maggie, Adrienne
Colin Bracewell	Dec 10th?, 2023	20	Support	First Ave						Maggie, Adrienne
Guytano (?)	Dec 10th?, 2023	20	Main (personal interruption)	First Ave						~
Charlotte Sands	March 25th 2024	21	Main	Amsterdam Bar Hall	7	8	9	10	85%	Amie
Fall Out Boy	April 6th, 2024	21	Main	Target Center	11	10	10	9	100%	Amie
Dean Lewis	April 17thth, 2024	21	Opener	XCel Energy	9	8	9	7	83%	Amie
AJR	April 17th, 2024	21	Main	XCel Energy	9	10	10	7	90%	Amie

REO Speedwago n	July 8th 2024	21	Opener	Somerset Ampitheater	7	5	7	3	63%	Mom
Train	July 8th 2024	21	Train	Somerset Ampitheater	8	7	8	8	78%	Mom
Amber Pacific	August 17th 2024	21	Opening Reverb Festival	Eau Claire Event District	7	6	7	5	71%	Amie
Emery	August 17th 2024	21	Opening Reverb Festival	Eau Claire Event District	5	5	5	5	57%	Amie
Secondhan d Serenade	August 17th 2024	21	Opening Reverb Festival	Eau Claire Event District	8	6	5	10	73%	Amie
Anberlin	August 17th 2024	21	Reverb Festival	Eau Claire Event District	7	9	9	10	88%	Amie
Hawthorne Heights	August 17th 2024	21	Reverb Festival	Eau Claire Event District	8	8	7	10	83%	Amie
Story of the Year	August 17th 2024	21	Reverb Festival	Eau Claire Event District	7	9	9	10	88%	Amie
Yellowcard	August 17th 2024	21	Reverb Festival	Eau Claire Event District	7	8	7	10	80%	Amie
Grayscale + Mayday Parade										
The Rose	July 6th 2025	22	Only + Main	Orpheum Theatre	8	9	9	7	83%	Klara + Josh